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Semantics and Pragmatics

Lecture 1

What is Semantics?
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Semantics is the technical term used to refer to the study of meaning.
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This term is a recent addition to the English language. One of the earliest uses
of the term was in 1894, in a paper entitled: “Reflected meanings: a point in
semantics.” In this case, the term was used to refer not to meaning only but to

its development which is what we call now “historical semantics”.
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In 1900, a book called “Semantics: studies in the science of meaning” was
published. The term Semantics was treated in this book the way we use it
today, to refer to the “science” of meaning not the changes of meaning from a

historical point of view.
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® The use of the word “semantics” in popular language:
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In popular language, especially in newspapers, the word “semantics” is used to
refer to the manipulation of language, mostly to mislead by choosing the right

word. For example, the following headline in The Guardian in 1971: “Semantic

manoeuvres at the Pentagon”.

In this article the term “mobile manoeuvre” was being used to mean “retreat”.
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What is “meaning”?
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“Meaning” covers a variety of aspects of language, and there is no general
agreement about the nature of meaning.

Looking at the word itself, the dictionary will suggest a number of different

meanings of the noun “meaning” and the verb “mean”.
) dagd Jga ale U A (g ARl cadl g2 (e A it Ao gana Jady Sira
A" Jadll g e andU Allidal Aleal) G 1030 7 B G galdl) (8 Lgd dalSl) ) AL s



http://www.ckfu.org/vb/u87137.html
http://www.ckfu.org/vb/u148855.html

Nonee - sufrtan

The word mean can be applied to people who use language, i.e. to speakers, in
the sense of “intend”. And it can be applied to words and sentences in the sense
of “be equivalent to”. To understand what meaning is, one has to keep in mind
whether we are talking about what speakers mean or what words (or

sentences)mean.
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e Utterance Meaning (Speaker Meaning) is what a speaker means (i.e. intends
to convey)when he uses a piece of language. It includes the secondary aspects

of meaning, especially those related to context.
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¢ Sentence Meaning (or Word Meaning) is what a sentence (or word) means, i.e.
what it counts as the equivalent of in the language concerned.
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Example:

“Nice day.”

This sentence is equivalent to something like “This is a lovely day.”
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However, depending on the situation and the speaker’s facial expressions, tone
of voice, or the relationship that exists between the speaker and hearer, it can

mean the exact opposite, i.e. “This is not a nice day.”
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From what we discussed above, it becomes clear that there is a distinction
between what would seem to be the usual meaning of a word or a sentence,
and the meaning it has in certain specific circumstances or contexts. It is this

distinction that allows us to say one thing and mean another.
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This is a difference between Semantics and Pragmatics.

Al g (Hlaal) ale G (5AN 54 13

What is Pragmatics?

Pragmatics is the study of meaning that a sentence has in a particular context in
which it is uttered.

As we mentioned earlier, the difference between Semantics and Pragmatics is
that the study of Semantics is independent of context.

e.g. There’s a car coming.
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By: Abu Bakr
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1. Semantics is the technical term used to refer to:
a. The reason behind meaning
b. The study of meaning.
c. The study of formation
d. The reason behind formation

Semantics is the technical term used to refer to the
study of meaning.
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2. The term "Semantics" was used to refer not to meaning only but to:
a. Its development
b. Its formation
c. Its category
d. All true

used to refer not to meaning only but to its
development which is what we call now “historical

emantics”. TR
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3. “Historical semantics” is a term that is being used now:
a. When we look at the meaning only.
b. When we look at the development of meaning only.
c. When we look at the formation only
. d. When we look at both the meaning and the development.

used to refer not to meaning only but to its
development which is what we call now “historical
emantics”. N
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4. The term "Semantic" earliest use was in:
a. 1794
b. 1894
c. 1925
d. All false

—

This term is a recent addition to the English
language. One of the earliest uses of the term was
in 1894, in a paper entitled: “Reflected meanings:
a point in semantics.” In this case, the term was

44, 5 1o ol

5. In 1900, a book called “Semantics: studies in the science of meaning” was
published. The term Semantics was treated in this book:
a. The way people at that time understood semantics.
b. The way we use it today.
c. The wrong way which had to be abandoned.
d. Aand C
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In 1900, a book called “Semantics: studies in the
science of meaning” was published. The term
Semantics was treated in this book the way we use
it today, to refer to the “science” of meaning not

6. The way we use the term "Semantics" today is when it refers to:
a. The “science” of meaninag.
b. The changes of meaning from a historical point of view.
c. Both true
d. All false

In 1900, a book called “Semantics: studies in the
science of meaning” was published. The term
Semantics was treated in this book the way we use
it today, to refer to the “science” of meaning not
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7. When the word “semantics” is used to refer to the manipulation <=t of
language, this happens in:
a. Formal language
b. Aggressive language
c. Popular language
d. Political language
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* The use of the word “semantics” in popular
language:
In popular language, especially in newspapers, the word

“semantics” is used to refer to the manipulation of
language, mostly to mislead by choosing the right word.
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8. Manipulation of language mostly occurs in:
a. Newspapers
b. History books
c. Encyclopedias
d. All false

* The use of the word “semantics” in popular
language:
In popular language, especially in newspapers, the word

“semantics” is used to refer to the manipulation of
language, mostly to mislead by choosingthe right word.

9. The reason behind manipulation is to:
a. Make things more appealing to public.
b. Mislead the public
c. Inform the public.

d. All true

* The use of the word “semantics” in popular
language:
In popular language, especially in newspapers, the word

“semantics” is used to refer to the manipulation of
language, mostly to mislead by choosingthe right word.
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10. To understand what meaning is, one has to keep in mind whether
we are talking about what speakers mean or:
a. What the listener might understand.
b. What words (or sentences)mean.
c. What the speaker wants to say.
~d.AandC

what meaning is, one has to keep in mind whether
we are talking about what speakers mean or what
words (or sentences)mean.
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11. In utterance Meaning (Speaker Meaning), a word meaning includes
the secondary aspects of meaning, especially those related to:
_a. Context.
b. Weather
c. Emotions
d. All false

e Utterance Meaning (Speaker Meaning) is what a
speaker means (i.e. intends to convey)when he
uses a piece of language. It includes the secondary
aspects of meaning, especially those related to
context.
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12. There is a distinction between what would seem to be the usual
meaning of aword or a sentence, and the meaning it has in certain
specific circumstances or contexts. This is, in fact, the difference
between:
a. Semantics and Systematic
b. Semantics and Pragmatics.
c. Semantics and syntactics.
d. All false
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that there is a distinction between what would
seem to be the usual meaning of a word or a
sentence, and the meaning it has in certain
specific circumstances or contexts. It is this
distinction that allows us to say one thing and

mean another.
This is a difference between Semantics and

g-ﬁragmatics. GO

12 a5 1 o ol

13. The study of meaning that a sentence has in a particular context in
which it is uttered. This definition refers to:
a. Syntactic
b. Pragmatic
c. Semantic
d. Band C

Pragmatics is the study of meaning that a sentence
has in a particular context in which it is uttered.
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14. When the word "mean"* is used in the sense of “be equivalent to”, we are
looking at the meaning from the:
a. Pragmatic point
b. Semantic point

c. Both
d. Neither
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SEMANTICS AND PRAGMATICS

Lecture 2

Sense and Reference
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Sense and reference are two very distinct ways of talking about the meaning of
words and other expressions.

Sense deals with the relationships inside the language.

Reference deals with the relationship between the language and the world.
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Sense

The sense of an expression is its place in a system of semantic relationships with
other expressions in the language.

E.g. The relationship between “big” and “small” is oppositeness of meaning
(antonymy).

The relationship between “rich” and “wealthy” is sameness of meaning
(synonymy).
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e We will talk more about sense relations in a coming lecture.

Notes:
1. In some cases, the same word-form can have more than one sense. E.g.
Look at the word-form “bank” in the following sentences:
“I have an account at the bank.”
AalS JS& a1 g a1 | e (ra JAS) Lgd dalSl) JS8 (il Sy, cNLAT) ey 8
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“I have an account at the bank.”
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“We took the boat to the other bank of the river.”
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In these examples, “bank” has a different sense in each sentence.
dals Aoyl oda (B
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2. We can talk about the sense, not only of words, but also of longer
expressions such as phrases and sentences.
el slad) Jia J ghal i pans (pa Lyl oS0y clalSl) cha Jadd ud) drall (o Guanl) UiSay
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e.g. “Rupert took off his jacket.”
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“Rupert took his jacket off.”
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We say that both of these sentence have the same sense.
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3. One sentence can have different senses.
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e.g. “The chicken is ready to eat.”
IS 5 ke dalaall' Dl
This sentence has two different senses. The first sense is that the chicken is
ready to be eaten. The second sense is that the chicken is ready to eat
something.
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Reference
Reference is a relationship between parts of a language (words and phrases)
and things outside the language (in the world).
By reference a speaker indicates which things and persons in the world are
being talked about.
e.g. My son is in the house.
“My son” here refers to a person in the world and “the house” refers to a thing
in the world.
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To make the term reference clearer to you, hold a book in your hand and
describe it in a sentence. For example: “This book is about Semantics.”
The English expression “this book” is part of the language. This expression can
refer to any book. In the example, we used it to refer to part of the world which
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is the book you are holding in your hand. “Reference” is the relationship
between the language expression and the real world object.
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After looking at the previous example, we can give the following two
definitions:

¢ A referring expression is any expression used in an utterance to refer to
something or someone.

¢ A referent is the person or thing in the world speakers refer to by using a
referring expression.

The relation between a referring expression and a referent is what we call
reference.
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Notes:

1. The same referring expression can, in some cases, be used to refer to
different referents.

e.g. The referring expression “this book” can be used to refer to different books.
2. Two different referring expressions can have the same referent.

e.g. The two expressions “Riyadh” and “the capital of Saudi Arabia” both refer
to the same place.
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Comparing Sense and Reference

1. The referent of an expression is often a thing or person in the world; whereas
the sense of an expression is not a thing at all.

The sense of an expression is an abstraction in the mind of a language user.
When a person understands fully what is said to him, it is reasonable to say that
he grasps the sense of the expression he hears.
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2. Every meaningful expression has sense, but not every meaningful expression

has reference.

e.g. The words “almost”, “if” and “probable” have sense, but they do not refer
to a thing in the world.
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

2" lecture

1. When we talk about the meaning of words and other expression,
we have to consider:

a. Sence

b. Reference
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c. Since

Sense and Reference I

Sense and reference are two very distinct ways of
talking about the meaning of words and other
expressions.

Sense deals with the relationships inside the
language.

Reference deals with the relationship between the
language and the world.

Ay 4 2o pialaal)
2. Sense and reference are two very ......c.eu.ue ways of talking about
the meaning of words and other expressions.

a. Similar

c. Confusing

d. Aand B

Sense and Reference I

Sense and reference are two very distinct ways of
talking about the meaning of words and other
expressions.

Sense deals with the relationships inside the

language.

Reference deals with the relationship between the
language and the world.
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3. Sense deals with the relationships:

b. Outside the language.
c. Both inside and outside.

d. All true

Sense and Reference I

Sense and reference are two very distinct ways of
talking about the meaning of words and other
expressions.

Sense deals with the relationships inside the
language.

Reference deals with the relationship between the
language and the world.

fany y5 25 paladl
4. Reference deals with the relationship between the language and:

a. The environment
c. The dictionaries.

d. History
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Sense and Reference I

Sense and reference are two very distinct ways of
talking about the meaning of words and other
expressions.

Sense deals with the relationships inside the
language.

Reference deals with the relationship between the
language and the world.

Qs 3o palaall
5. The sense of an expression is its place in a system of semantic
relationships with other expressions in the language. An
example of these relationships:

a. oppositeness of meaning (antonymy).

b. Sameness of meaning (synonymy).

d. Both false

—_————————————————————— — — — — — — — — — —— —— —— —— — — — —— —— —— — — — — — — — — — — —

' The sense of an expression is its place in a system of
semantic relationships with other expressions in
the language.

'E.g. The relationship between “big” and “small” is

! oppositeness of meaning (antonymy). '
' The relationship between “rich” and “wealthy” is

. sameness of meaning (synonymy).

e We will talk more about sense relations in a

"ﬁan:una lartura

6. The same word-form has more than one sense.

a. This happens all the time.
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c. This never happens in English.

d. All false

Notes:

1. Insome cases, the same word-form can have
more than one sense. E.g. Look at the word-form
“bank” in the following sentences:

“I have an account at the bank.”

T4y 20 jpualaa
7. Talking about "sense" applies:

a. Only to words.

b. Only to sentences or phrases

d. Neither A nor B

2. We can talk about the sense, not only of words,
but also of longer expressions such as phrases and
sentences.

e.g. “Rupert took off his jacket.”
“Rupert took his jacket off.”
B4 i 26 paladll
8. One sentence .......... have different senses.

b. Can't
c. Must

d. All false
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3. One sentence can have different senses.
e.g. “The chicken is ready to eat.”

Q4 1520 palaa
‘I have an account at the bank.”
“We took the boat to the other bank of the river.”
9. In these examples, “bank” has a .................... in each sentence.

a. Similar sense

c. Confusing sense

d. Aand B

“l have an account at the bank.”
“We took the boat to the other bank of the river.”

In these examples, “bank” has a different sense in

each sentence.
ra

=9

T4 yii 20 jpualas
“Rupert took off his jacket.”
“Rupert took his jacket off.”
10. In the above two examples, we say that both of these

sentence have the .......... sense.
a. Confusing
b. Different

d. All false
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e.g. “Rupert took off his jacket.”
“Rupert took his jacket off”
We say that both of these sentence have the same

Sense.
B4y 20 palaa
“The chicken is ready to eat.”
11. The above sentence is an example of:

a. A sentence has two different senses.

b. A sentence has two similar senses.
c. A sentence has only one sense.

d. All true

3. One sentence can have different senses.

e.g. “The chicken is ready to eat.”

This sentence has two different senses. The first
sense is that the chicken is ready to be eaten. The
second sense is that the chicken is ready to eat
something.

94;.1)...’2 2::)...'4\.;4&\
12. As we know that "Reference" deals with relationship
between the language and the world, we got to know the term "

referent" and the term:
a. "referring pronoun"
c. "Referent expression”

d. Subject
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After looking at the previous example, we can give
the following two definitions:

* A referring expression is any expression used in an
utterance to refer to something or someone.
1345 3820 pialaa
13. The relation between a referring expression and a referent
Is what we call:

a. Reference.
b. Utterance.

c. Occurrence.

d. All false

The relation between a referring expression and a

referent is what we call reference.
]_34;4).&2a)41;.4

14. In the example:" This book", the word (This) is:
a. A referring expression
b. A referent
c. A phrase

d. All false

Notes:

1. The same referring expression can, in some cases,
be used to refer to different referents.

e.g. The referring expression “this book” can be used
to refer to different books.
1445 3320 palas
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15. In the example:" This book", we can find that the same
referring expression .................... be used to refer to different
referents.

a. Can't
c. Must

d. All false

Notes:

1. The same referring expression can, in some cases,
be used to refer to different referents.

e.g. The referring expression “this book” can be used
to refer to different books.
144, 520 yialsa

16. While a referent of an expression is often a thing or person
in the world, the sense of an expression:

a. The same
b. May be a thing

c. Must be a thing

1. The referent of an expression is often a thing or
person in the world; whereas the sense of an
expression is not a thing at all.

1640 )20 yialas
17. Every meaningful expression has sense, ............. every
meaningful expression has reference.
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b. and
c. but also

d. all false

2. Every meaningful expression has sense, but not
every meaningful expression has reference.
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Paradigmatic and Syntagmatic Relations
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Paradigmatic relations are those into which a linguistic unit enters through being contrasted
or substitutable, in a particular environment, with other similar units. (vertical relation)
AT Clan g g Adsma Al (B, I ) (BT Lgd oS JVA (ha JA g gl 0335 b (A1 Gl A 1ALl sl
(asals 4Bdle) | Alilaa

Syntagmatic relations are those into which a linguistic unit enters by its co-occurrence with
other units. (horizontal relation)

(4588 ABe) | (s Al Cilaa g aa d fidia 33 g (pe JANI Ay il baa g B A Gl A sdalil) cilidal)

e.g.

“ared door”

“a green door”

In this example, “red” and “green” are in a paradigmatic relation to each other.

“Red” and “green” are also in a syntagmatic relation with “door”.

Semantic Fields

Ayal) J g8al)

Words in a language can be grouped and classified into different semantic fields.

A semantic field contains a group of words which are related in their meaning.
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For example, the words “Saturday”, “Sunday”, “Monday”.. etc. belong to one semantic field
which we can call “days of the week”.

When we look at semantic fields we are concerned with paradigmatic relations between
words.

Ll cp Jladud) clBdle el L) 4aNAl Jgial) ) B Latie

e A word can be part of more than one semantic field. For example, the word “whale” can be
a member of the following semantic fields: “living creatures”, “animals” and “sea animals”.

e Semantic fields can be useful to compare a single language at two different time periods, or
to compare two languages to see the way in which they divide up a particular field.
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This is a comparison of a single dimension of the color system between English and literary
Welsh. We notice that English has more color terms to divide up this particular semantic field.
O AS) Lgmal 4 Jalai) Aslll o) Badl | AW 4y 3k ol g 4 Jalai) G ) oY) LRI (ya a9 2y e A B 02
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There are many other similar examples. For instance, if we look at the words for noise in a
Mexican language, we find that there are six 'noise' words: referring to children yelling,
people talking loudly, people arguing, people talking angrily, increasing noise and funeral
noise.

Similarly, in Arabic we have a lot of words like “klas” and “shishi” that divide up the semantic
field of “dates”.
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In all these examples we have a list of words referring to items of a particular class dividing
up a semantic field.

In almost all of these cases, moreover, the words are incompatible. We cannot say for
example, “This is a red hat” and of the same object “This is a green hat.” Also, a creature
cannot be described both as a “lion” and as an “elephant” at the same time.
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The incompatibility of terms within a semantic field is often clearly indicated in language.
e.g. It was on Saturday that she went there.

This sentence implies that she did not go there on Monday or any other day of the week (but
not that she did not go there in August). The words “Saturday” and “Monday” are
incompatible because they divide up the semantic field of “days of the week” in English.
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We can, however, recognize terms that seem to be mixtures.

For example, a hat can be orange-red. But by introducing such terms we merely increase the

words within the field, and divide the field up more finely. So instead of just having color

terms like “red”, “green”, “blue” and “orange”, the semantic field of the color system will
include color terms like “ red-green”, “orange-red”.. etc.
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In some cases the distinction between the terms in a semantic field is clear, and reflected by
clear distinctions in experience; this is the case, with few exceptions, with animal names. So,
the distinction between “rabbit” and “tiger” is very clear.
In other cases, e.g. the Mexican 'noise' words we discussed earlier, the distinctions are far
more blurred.
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Generally, too, the items in a semantic field are ‘unordered’. In other words, there is no
natural way, as far as their meaning is concerned, of arranging them in any kind of order.
il Juiy Asnds Ayl aa Y 30 0 s A e " (A AN Jiad) b pualinl) o L) ale iy
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If we wanted to list them we should probably do so in alphabetical order.

But there are some groups of words that seem to have some 'order’'. For example, the days of
the week and the months of the year form sets of ordered incompatible items.

We cannot say for instance:

“This month is November and it is also March.”

This group of words, however, have sequential relations such that Sunday comes
immediately before Monday, and Monday before Tuesday.. etc.
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Another example of semantic fields that have members that can have “natural order” is the
case of measurement units such as inch, foot and yard which can be put in order, starting
from the smallest one.

The numerals one, two, three, etc., are another obvious example.
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1. Paradigmatic relations are those into which a linguistic unit

enters through being ............ with other similar units. (vertical
relation)

a. Combined

b. Substitutable

c. ldentified
d. All false

2. Syntagmatic relations applies to relations holding between
elements that are ........... with each other.

a. Combined
b. Substitutable
c. Ildentified

d. All false

3. Words in a language can be grouped and classified into different
............ fields.

a. Paradigmatic
b. Semantic
c. Syntactic

d. Band C
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4. A semantic field contains a group of words which are related in
their......

a. Pronunciation
b. Meaning
c. Construction
d. All false
5. Aword canbe partof...................... semantic field.
a. One
b. Main

c. More than one

d. All false
6. Semantic fields can be useful to compare a single language at:

a. Two different time periods.

b. A one specific time period.
c. Three different time periods.
d. All false
7. The items within a semantic field are:
a. Compatible
b. Incompatible
c. Unordered
d. Band C
el Jie =1 ) pia 50 81 ol

Gladiall de 3y Y (S
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SEMANTICS AND PRAGMATICS

Lecture 4

Collocation

Collocation

- In our previous lecture, we mentioned that semantic field theory is
essentially concerned with paradigmatic relations. Another
important type of relations we need to recognize is the syntagmatic
relations between words like “bite” and “teeth”, “bark” and “dog”,
“blond” and “hair”.. etc.

- We notice from these examples that certain words tend to appear
together or “keep company”. This keeping company is what is called
in semantics “collocation”.
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- ¢ Collocation can be seen as part of the meaning of a word. By looking

at the linguistic context of words, we can often distinguish between
different meanings. Notice the use of “chair” in these examples.

1- sat in a chair

2- the baby's high chair

3- the chair of philosophy

4- has accepted a University chair

5- the chairman of the meeting

6— will chair the meeting
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7- the electric chair

8- condemned to the chair

9- These examples are clearly in pairs, giving four different meanings of
the word. The above examples help to illustrate Firth’s (1951,

argument: “You shall know a word by the company it keeps.”
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Types of Collocational Restrictions

- Here we will discuss the three types of restriction that result in
collocation of words in a language.

* Types of Collocational Restrictions:

A. Some collocational restrictions are based wholly on the meaning of

the item.
For example, meaning explains the collocation of “bite” and “teeth”.
Meaning also explains why it is unlikely to see the collocation “green
cCoOw”.
358 ¢1giCollocational:
S5l am dxwiyA. collocational .ui tia g Jo LS
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-  Words may have more specific meanings in particular collocations. In

particular collocations, a word may change. Thus, we can speak of
“abnormal weather” or “exceptional weather” if we have a heat wave in
winter, but “an exceptional child” is not “an abnormal child”. In the
second example, “exceptional” is being used for greater than usual
ability and “abnormal” to refer to some kind of defect.
LSay Sy = AalSTN s W (ol Loy (B iy (B Idou ST Olas g 0550 W8 SLIST
oSNy sl Jad B 8yl odl drge Ll O 131 "ilimal pdlall” i "Eab 8 dlall" 8 o O
9 clmadl Byl o 2SY dslusi o "Bl (W1 Juedl B b b b o] il (b
o o0 g9 LN Al 2

- B. Some restrictions are based on range — a word may be used with a

number of other words that have some semantic features in common.
Also, we find that individual words or sequences of words will NOT
collocate with certain groups of words.

Looking at the range we know roughly the kind of nouns (in terms of

their meaning) with which a verb or adjective may be used.
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- For example, we may say “The rhododendron died,” but not “The

rhododendron passed away.” This is in spite of the fact that “pass

away” seems to mean “die”. We should not use “pass away” with the
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names of any shrubs. It is not very plausible to say that “pass away”
indicates a special kind of dying that is not characteristic of shrubs. It
is rather that there is a restriction on its use with a group of words that

are semantically related.

- Range accounts for the unlikeliness of collocations like “The
rhododendron passed away.”

In cases like this, we do not reject specific collocations simply because
we have never heard them before — we rely on our knowledge of the

range.
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- C. Some restrictions are collocational in the strictest sense, involving

neither meaning nor range.

Although collocation is very largely determined by meaning, it
sometimes cannot easily be predicted in terms of the meaning of the
associated words.

An example of this is the use of “blond” with “hair’. We do not
normally say “a blond door” or “a blond dress” even if the color was

exactly that of blond hair.
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- Another example is words for animal sounds such as: “dog/bark”,

“cat/mew”, “sheep/bleat”, “horse/neigh”, etc.

This characteristic of language is also found in an extreme form in the

collective words such as: “flock of sheep”, “herd of cows”, “school of

whales” and “pride of lions”.

[ Olasdl" ("l [ ol " slge [ B ML) [ ST e Ol Sgol o Byl g 5T Jle H -
o
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- However, there is no clear distinguishing line between those

collocations that are predictable from the meanings of the words that

co-occur, and those that are not predictable from the meaning. That

is because it might be possible to provide a semantic explanation for

even the more restricted collocations, by assigning very particular

meanings to the individual words. For example, we can account for
collocations like “dogs bark”, “cats mew” in terms of the kind of noise
made.
- = Sww A oL e e g g (S A oy Gl o Ses ety o Sla (I3 aag
Sl e k5 (Sl 0 05 B Y g2 Ma . cmadl 0 Wy 5l (Ser Y A iy (S jlaad
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W@ slogiall o g gl Cam 0 " slge bl (o SISU" 2o Cio ). This should not,

however, lead us to conclude that all of these restricted collocations
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can be accounted for semantically. For instance, it is difficult to see
any semantic explanation for the use of collective terms. The only
difference between “herd” and “flock” is that one is used with cows and

the other with sheep.
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

v [4
Lecture 4
1. Certain words tend to appear together or “keep company”. This
Is called in semantics:

a. Combination
b. dual
c. collocation
d. all false
2. In collocation, aword's meaning:
a. Is always the same.

b. Differs based on its company.

c. Never changes.
d. Aand C

3. There are some restriction on collocation. One of these
restrictions is when they are based wholly on the meaning of the
item. An example of this is:
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a. Green, cow
b. Bite, teeth
c. Bark, dog
d. Band C

4. There are some restriction on collocation. One of these
restrictions is based on range when a word may be used with a
number of other words that have some semantic features in
common. An example of this is:

a. The rhododendron died

b. The rhododendron passed away
c. Aand B
d. Neither
5. In the following sentences, decide the write collocation:

He spoke English with a ........ French accent.
a. Average

b. Widespread

c. Pronounced

d. Chronic
6. His new novel has met with ........ acclaim.
a. wholehearted
b. Pronounced
c. Great

d. Careless
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7. We need to make sure that there is enough ........ accommodation
to house all the delegates.

a. Wholehearted
b. Careless

c. Yellow

d. Luxury

8. Your company has had a long and fruitful with
mine.

a. Assignment
b. Association
c. Assessment

d. Assets

9. We had to choose from a motley of
candidates.

a. Assortment
b. Assistance
c. Association

d. assets
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SEMANTICS AND PRAGMATICS

Lecture 5

Sense Relations Part 1

Sense Relations

In lecture 2, we talked about the notion of “sense”. We mentioned that
the sense of an expression is the whole set of sense relations it has with
other expressions in the language.
In this lecture we will talk about two of these sense relations:
synonymy and antonymy.
B e
a3l e B g Al Ao o 9 gl yaddl OF USH " jgaidl” pggde 8 Lo (2 3p0lne
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Synonymy
- Synonymy is the relationship between two lexical units (words) that

have the same sense. Words that have the same sense are called

synonyms.
The following pairs are examples of synonymy:

buy/ purchase
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hide/ conceal
wide/ broad
deep/ profound

- There are, however, no real synonyms. No two words have exactly the

same meaning. Perfect synonymy is hard to find because it is unlikely
that two words with exactly the same meaning would both survive in
a language.

If we look at possible synonyms there are at least five ways in which

they can be seen to differ. These ways are as follows:

caall oo Juadl Bl Lls el b g SLlS bz ¥ il SB31all Y (3 ang cla
Bl o o Bl 4B o sladly gl s arall o pselS” O umpall b o 49 o gl
Aaldy

MY (B gl Bl s e (s B e JEYI o Blin 05 (Sien SB31 1 U 1)
t b WS 2 3kl ada

- First, some sets of synonyms belong to different dialects of the

language. For instance, the term “fall” is used in the United States and
in some western counties of Britain where others would use “autumn”.

- Second, words that are used in different styles. For example words

such as “gentleman”, “man” and “chap” have the same meaning but are

used in different styles ranging from formal to colloquial.
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Third, some words may be said to differ only in their emotive or

evaluative meanings. The remainder of their meaning remains the

same. Notice the emotive difference between “politician” and
“statesman”, “hide” and “conceal”, “liberty” and “freedom”, each

implying approval or disapproval. The function of such words in

language is to influence attitudes. They are chosen simply for the
effect they are likely to have.

Fourth, some words are collocationally restricted. In other words,

they occur only in conjunction with other words. Thus, “rancid”
occurs with “bacon” or “butter” and “addled” with “eggs” or “brain”. It
could, perhaps, be argued that these are true synonyms differing only

in that they occur in different environments.

# Fifth, many words are close in meaning, or that their meanings

overlap. There is a loose sense of synonymy between them. For the

adjective “mature”, for example, possible synonyms are “adult”, “ripe”

or “perfect”. For the verb “govern”’, we may suggest “direct”, “control”
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or “determine”. This is the kind of synonymy that is used by the
dictionary-maker.
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Antonymy
Antonymy is the relationship between two lexical units (words) that
have the opposite sense. Words that are opposite are called antonyms.
There are three different types of antonymy:
1- binary antonymy (complementarity)
2— converses (relational opposites)

3- gradable antonyms
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Types of Antonymy

1- Binary antonymy (complementarity):
Binary antonyms are lexical units which come in pairs and between
them exhaust all the relevant possibilities. If one of the antonyms is
applicable, then the other cannot be applicable, and vice versa.
E dead/ alive
married/ unmarried
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2- Converses (relational opposites):
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In the case of converses, a word describes a relationship between two
things (or people). At the same time, another word describes the same

relationship when the two things (or people) are mentioned in the

opposite order. In this case, we say then the two lexical units are

converses of each other.
E.g.

“parent” and “child” are converses. If we say, “Ahmed is the parent of
Ali” (one order); this describes the same relationship as “Ali is the child
of Ahmed” (opposite order).

The notion of converseness can be applied to examples in which three

referents are mentioned as in the case of “buy” and “sell”.

John bought a car from Fred. Fred sold a car to John.
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3- Gradable antonyms:

Gradable antonyms are two words at opposite ends of a continuous
scale of values.

Eg.

“Hot” and “cold” are gradable antonyms. Between “hot” and “cold” we
have “warm”, “cool” or “tepid”. A good test for gradability is to see
whether a word can combine with: very, very much, how or how
much.

- For example, it is possible with the gradable antonyms “far” and “near”
to say: “very near” or “How far is it?”

- On the other hand, in the case of other types of antonyms like
“married/unmarried” we wouldn’t normally say “very married” or
“very unmarried”. And with the antonyms “dead/alive”, we normally
wouldn’t say: “How alive is he?”

wistawdl — 3Gradable:
ohsladiGradable. il o 1ot Lobds oo jads B b Jo elS 2
Jeall Jors (S

<laleas S‘ gsb "S°JL:-“" 9 "Q}h"gradable ."3}7 an ji n>) '" ‘us)w‘n \..i»u "35)\-&“" 9 ":U?'Lm.“" w., )

B ar jesigradability oS of CaS cir 105857 ae BlS o meond) Sy OIS 13] Lo BB me o




. Nonee_svéran

islazell ae (Sandl o2 (Jlall L Jo —gradable JI" 5 "ur co @M sk ey @i 5 "OYY
"¢ 9a ks (sl

B3l Jgs o ooy "o mb | o e hslasadl e s AT 1T A (B s T Rl g —

(sl ¥ B3l g MBladl U e [ s’ me SilsLiamally RAN g el 8" T RN Ol gl

"?}é sw‘ »\.;3 ‘SL‘ g,é-;"

Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

v [ 4
Lecture 5
1. Synonymy is the relationship between two lexical units (words) that have
the ............. sense

a. Same

b. Different

c. Either

d. Neither

2. We can say about synonymy that:
a. Perfect synonymy is easy to find.
b. Perfect synonymy is hard to find.
c. There are no real synonyms.

d. Band C
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3. There are at least five ways in which they can be seen to differ. One of
these ways is when some sets of synonyms belong to different dialects of
the language. An example of this is:

a. "Fall" and "Autumn"

b. "Man" and "Chap"
c. "Liberty" and "Freedom"
d. Non of the above mentioned.

4. One of the ways some words differ in is when they are used in different
styles. An example of this is:

a. "Liberty" and "Freedom"
b. "Fall" and "Autumn"

c. "Man" and "Chap"

d. Non of the above mentioned.

5. One of the ways some words differ in is when words may be said to differ
only in their emotive or evaluative meanings. An example of this is:

a. "Liberty" and "Freedom"
b. “hide” and “conceal”

c. "Man" and "Chap"

d. Aand B

6. One of the ways some words differ in is when some words are
collocationally restricted. In other words, they occur only in conjunction
with other words. An example of this is:

a. “addled” and “eggs”

b. "Man" and "Chap"
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c. "Fall" and "Autumn"
d. AandB

7. One of the ways some words differ in is when many words are close in
meaning, or that their meanings overlap. There is a loose sense of
synonymy between them.

a. "Liberty" and "Freedom"
b. “mature” and "adult"

c. "govern" and "determine"
d. BandC

8. Antonymy is the relationship between two lexical units (words) that have

d. all false

9. There are three different types of antonymy. One of these types is binary
antonymy (complementarity). This happens when words with opposite
meaning comes in pairs. An example of this is:

a. "parent" and "child"

b. "dead" and "alive"

c. "hot" and "cold"
d. All false

10.0ne of the three different types of antonymy is Converses (relational
opposites).This happens when a word describes a relationship between
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two things (or people). At the same time, another word describes the
same relationship when the two things (or people) are mentioned in the
opposite order.. An example of this is:

a. "parent" and "child"

b. "dead" and "alive"
c. "hot" and "cold"
d. All false

11.0ne of the three different types of antonymy is the Gradable antonyms.
This happens when two words are at opposite ends of a continuous scale
of values. An example of this is:

a. "parent" and "child"
b. "dead" and "alive"

c. "hot" and "cold"

d. All false

12."permit" and "forbid" is an example of:
a. Gradable antonyms
b. Converses

c. binary antonymy (complementarity).

d. All false
13."deep" and "shallow" is an example of:

a. Gradable antonyms

b. Converses

c. binary antonymy (complementarity).
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d. All false
14."joy" and "sorrow" is an an example of:

a. Gradable antonyms

b. Converses
c. binary antonymy (complementarity).
d. All false
15."above" and "below" is an example of:
a. Gradable antonyms

b. Converses

o

binary antonymy (complementarity).
d. All false

16."teacher" and "student" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).
d. All false

17."far" and "near" is an example of:

a. Gradable antonyms

b. Converses

o

binary antonymy (complementarity).

o

. All false
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Semantics and Pragmatics

Lecture 6

Sense Relations (Part 2
Hyponymy
- Hyponymy is a sense relation between words in which the meaning of
one word is included in the meaning of the other. Hyponymy involves
the notion of inclusion in the sense that the meaning of “tulip” and
“rose” is included in the meaning “flower”, and the meaning of “lion”

and “cow” is included in “animal” or “mammal”.

—Hyponymy . 51 gas B urlg elS sme B Lgeess o (I LIS o B snall g
Hyponymy gasy @' @ "gas "30)" 5" a0 ooadsh 22 O (gmer 113 853 (o sy

. "CJ\-g-\-‘-'-S\" ji "O‘}:’J\" é \ o I (';?. "EJEJ." 3 "Mif‘"

/the set of all animals

the set of all cows

- The upper term is called the superordinate and the “lower” term is
called the hyponym.

E.g.




. Nonee_svéran

The meaning of “scarlet” is included in the meaning of “red”. “Red” in
this example is the superordinate, and “scarlet” is a hyponym of “red”.

- If a superordinate term has more than one hyponym, we call them
co-hyponyms.

Eg.

The superordinate “emotion” has the hyponyms “fear”, “anger”,
“happiness”, “sadness”.. etc. We say that “fear” is a co-hyponym of
“anger” and “sadness” is a co-hyponym of “fear”.. etc.

- A hyponym can itself be a superordinate of another term included in
its meaning. For example, “tulip” is a hyponym of “flower” and
“flower” is a hyponym of “plant”.

- In a case like this, we say that “flower” is an immediate hyponym of
“plant” and “tulip” is an immediate hyponym of “flower”. “T'ulip” is also

a hyponym of “plant” but it is not an immediate hyponym.

ol plaas o 3lkyy —superordinate plaas " Bi" sy hyponym.

Jeadl Jors Sl

52 Jlal e B " Y sl peadl” gae B "Gl sme peias eusuperordinate " 1 5
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plant
immediate hyponym superordinate
flower
immediate hyponym superordinate
tulip

- There is not always a superordinate term for hyponyms in a language.

For instance, there is no superordinate term in English to cover a
variety of professions and crafts like “carpenter”, “doctor”, “flute
player’.. etc. The nearest possible term is “craftsman”, but that would

not include “doctor” or “flute player’. However, hyponymy relations
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vary from language to language. Greek, for example, has a
superordinate term to include a variety of occupations.

- Synonymy can be seen as a special case of hyponymy. For example, if
we look at two synonyms, such as “mercury” and “quicksilver”, we
notice that these also illustrate the hyponymy relationship because the
meaning of one of them is included in the other and vice versa. We
call this special case of hyponymy: “symmetrical hyponymy”. The rule
here is that if X is a hyponym of Y and Y is a hyponym of X, then X
and Y are synonymous.

tdlaas Wils urg ¥ —superordinate hyponyms urgp ¥ (Jid! fow Jo aallt 2
o) il b mlassuperordinate "yl Jae B pdly gell e de e A8 gems Aok
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Polysemy and Homonymy
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Polysemy is a sense relation in which the same word has several very
closely related meanings (senses).

E.g.

“Earth/earth” (our planet vs. soil). The two senses are clearly related by
the concepts of land (earth as land not sky or water,.

In the case of polysemy, a native speaker of the language has clear

intuitions that the different senses are related to each other in some
way.

Homonymy is a sense relation in which several words have the same
shape, but different meanings that are far apart from each other.

Eg.

“Bank” (financial institution vs. the side of a river) is a case of
homonymy in English.

In the case of homonymy, the senses of the word are not obviously

related to each other in any way that is clear from a native speaker’s

intuition.
Sl saHomonymy
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- Dictionary-makers have to decide whether a particular item is to be
handled in terms of polysemy or homonymy, because a polysemic
item will be treated as a single entry in the dictionary, while a
homonymous one will have a separate entry for each of the
homonyms.
- Itis important to note that there are cases where homonyms differ in

either writing or speech.

Eg.
“Lead” imetal) and “lead” (dog's lead) have the same spelling, but

pronounced differently. On the other hand, “site” and “sight”, “rite” and
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“right” are spelled differently but pronounced in the same way. For the

former, the term homography (words spelled the same) may be used,
and for the latter we use homophony (words pronounced the same).
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SEMANTICS AND PRAGMATICS

Lecture 7

Componential Analysis

Componential Analysis

- In componential analysis, the total meaning of a word is being
analyzed into a number of distinct components of meaning (semantic
features).

This kind of analysis can offer a theoretical framework for handling all
the sense relations we have been discussed in our previous lectures.

- As an example of componential analysis, we notice that in English
(and also many other languages) there is a three—fold division with

many words that refer to living creatures as in the following:

man woman child
bull COW calf
ram ewe lamb

- In the light of relationships such as these we can abstract the
components (male) and (female), (adulty and (non-adult), plus
¢(human)y, (bovine) and (ovine). Thus, “ewe” is (ovine), (female), ;adult),

“child” is (human), (non-adult) and so on.
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- Analysis of this kind is called componential analysis. It allows us to

provide definitions for all these words in terms of a few components.

J>sComponential
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XCEEELSY
Sl polndl b LidU Wy gaedl SN aer a Jolasl] (6 Bl Y1 o5 Jloudl e 6 g e (e
Lo 48l
Joow Je Jsy —componential s dla (Lai 828 651 OWg) oyt B OF o>
fh b (B ol 38 LS Bodl SIS J) ot ) LS o dpcall e g BN
b 3 oy
ot 8200 5
o s 1
©LY) L BLEYL (@l ) 5 (@Y (B 9 (5P SUSL 83 e Sy SBU ol 1o 552 29 —
A ey (@l 8 (L) g "R (GLSD) () (pLeVl) g8 MEma” (S plY) 5 (YY)
Jebows Jokowdt £ 31 1ia oy —cOmponential Co> 0 0dn [ SLISW Sl ks W s Y
pelall e B sus

- In many cases there is an appropriate word in the language to label

the component. The components ;(maley and (female) are obvious

examples. Such labels for components are not, however, always




. Nonee_svéran

readily available. For instance, notice the relationship between the
words in the following two sets:

come go

bring take

From these two sets, we notice that there is a relationship between the
words “come” and “go” which is similar to “bring” and “take”. We could
therefore distinguish components X and Y and A and B such that
“come” is XA and “go” XB, “bring” YA and “take” YB. But what could
be the names of these components (X, Y, A, B)? It is difficult to
provide an answer, for they cannot be identified with features that
have any simple kind of physical reality.

We may, perhaps, assume that all societies distinguish between (male)
and (female) and that thus the components (male) and (female) are
universal components of language. But the “come/go” and “bring/take”

examples show that not all components are related to simple physical

features, and it becomes less plausible to assume that they are
universal components found in all languages.

A particular characteristic of componential analysis is that it attempts
as far as possible to treat components in terms of “binary” opposites,

e.g. between (male) and (female), (animate) and (inanimate), (adult,
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and (non-adult). It clearly gives emphasis to the relation of
complementarity.
Notationally, there is an advantage in such binary terms in that we can

choose one only as the label and distinguish this in terms of plusses

and minuses.

- Thus, imale) and (female) are written as (+male) and (-male) and so on.
We can, moreover, refer to the lack of a sex distinction as in the case
of inanimate objects using the notation 'plus or minus' with the

symbol (+ male). This works well only where there is a clear

distinction. Often, however, there is indeterminacy, as with the words
“tar” and “porridge” in relation to the components (solid) or (liquid,.

- Componential analysis has been used to bring out the logical relations

that are associated with sense relations. Thus by marking man as
(+male) and pregnant as (—-male), we can rule out *pregnant man. Yet,
componential analysis does not handle all sense relations well; in

particularly,
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the following two sense relations:

1- converses (relational opposites) in antonymy

2— hyponymy

1- Converses (relational opposites) in antonymy

It is difficult to reduce the relational opposites to components. For the
relation of “parent/child” cannot simply be handled by assigning
components to each, unless those components are in some sense
directional. In componential analysis, cases like these are analyzed as

having the same components but in a different direction.

2—- Hyponyms

Componential analysis cannot remove the hierarchical characteristic
of hyponymy. For the distinction (+male)/(-male) applies only to
living (animate) things. Componential analysis, therefore, has to state
that: only if something is animate, may it be male or female with a
formula such as (+animate, +male/-male).

Componential analysis can handle all the sense relations we have
discussed, but it handles some sense relations better than others like
hyponyms and converses. It can be made to handle these relations
with some necessary modifications like adding direction to the

analysis in the case of converses, but it is doubtful if componential
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analysis makes these relations clearer; it seems rather to obscure their

differences.
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

Lecture 7
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1. In componential analysis, the total meaning of a word is being analyzed
(17 (' of meaning.

a. Only one component

b. A number of distinct components

c. Few similar components
d. All false

2. "There is an appropriate word in the language to label the component".
This statement is:

a. Completely true
b. Completely wrong

c. Truein many cases

d. Wrong in many cases

3. The words:“come/go” and “bring/take” are examples show that
............ components are related to simple physical features.

a. No
b. not all
c. all
d. BandC

4. A particular characteristic of componential analysis is that it attempts as
far as possible to treat components in terms of .................. opposites.

a. Binary
b. Triple

c. Quaternary
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d. Multiple

5. There is an advantage in such binary terms in that we can choose
......... only as the label_and distinguish this in terms of plusses and
minuses.

a. Two
b. Three
c. Four
d. One
6. Using (+) and (-) and (% ) only where there is a clear.......
a. Distinction
b. Similarity
c. Both

d. Neither




. Nonee_svéran

SEMANTICS AND PRAGMATICS

Lecture 9

Semantics: Practical Applications

In our previous lectures, we discussed a number of topics related to semantics.
We will cover topics related to pragmatics in the coming lectures.

Before we move to pragmatics, however, we will look at a number of practical
exercises that will help us apply our knowledge of the theoretical aspects we
have been discussing so far in this course.

e If you need more practice, you can find more of these exercises in your
reference book Semantics: A Course Book.
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Binary Antonymy

To identify binary antonyms, we can test antonymous pairs by seeing if the
negative of one term is the equivalent to (or entails) the other. Thus, “dead” and
“alive” are binary antonyms because if something is not dead then it must be
alive. Use this test to determine which of the following pairs in the exercise are
binary antonyms.
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1-
2-

Exercise 1: Binary Antonymy

Are the following pairs binary antonyms?

chalk — cheese Yes / No
same — different Yes / No
copper — tin Yes / No
dead - alive Yes / No
married — unmarried Yes / No
love — hate Yes / No

No, if something is not chalk, it is not necessarily cheese. Yes, if two
things are the same, they are not different; and if they are not the same, they
are different. No

Yes Yes No, if you don't love someone, you don’t necessarily
hate him.
i 3] psi (2) womddl 859,00 pund G Gealball e sosow Jla OIS 5]V (1)

V(3) .aakixo osp9 gt (s ] wilS 3]y caslio cond (g9 lpnss s

0,9,2)l aJ 0,51V wuS (bo lazxw wxs V waS 13] WV (6) p= (5) ps (4)

Converses

We mentioned that if a word describes a relationship between two things (or
people) and another word describes the same relationship when the two things
(or people) are mentioned in the opposite order, then the two words are
converses of each other. For example, “parent” and “child” are converses,
because X is the parent of Y (one order) describes the same relationship as Y is
the child of X (opposite order).
DLA‘JI < c €
Vel wai ;5 aodSy (Gl gl) i w0 @Ml wai dols OIS 15] I U,S5
las e CusVl o puiadS o5 oSl Cui il (Vasew gl) purel S5 e lpass
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Exercise 2 (A): Converses

Are the following pairs of expressions converses?
below — above Yes / No

grandparent — grandchild Yes / No
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3-
4-
5-
6-

love — hate Yes / No
conceal — reveal Yes / No
greater than — less than Yes / No
own — belong to Yes / No
Yes, if X is below Y then Y is above X Yes No No Yes
Yes

Exercise 2 (B): Converses

Are the following pairs of expressions converses?
If John bought a car from Fred, is it the case that Fred sold a car to John? Yes/

No

Are buy and sell converses? Yes / No
Are borrow and lend converses? Yes / No

Are give and take converses? (Careful!) Yes / No

Are come and go converses? Yes / No

Yes Yes Yes, if X borrows something from Y, Y lends that thing to
X.
No, if X takes something from Y, Y does not necessarily give that thing to X
(for example, X might take it without Y’s permission), so give and take are not
exact converses, although they almost meet the definition.
No, if someone goes to the mountain, the mountain does not come to him.

Gradable Antonyms

We mentioned that a good test for gradability, i.e. having a value on some
continuous scale, is to see whether a word can combine with “very”, or “very
much”, or “how?”or “how much?” For example, “How tall is he?” is acceptable,
but “How top is that shelf?” is not generally acceptable. Thus, “tall” is gradable,
but “top” is not gradable.

Try to apply this test to the following exercises.
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Exercise 3: Gradable Antonyms

Are the following pairs gradable antonyms?

tall — short Yes / No
long — short Yes / No
clever — stupid Yes / No
top — bottom Yes / No
love — hate (Careful!) Yes / No

Exercise 3: Answers

(1) Yes (2)Yes (3) Yes (4) No
(5) Yes, we can say “How much do you love/hate something?"”

Exercise 4: Antonymy

Classify the following pairs as binary antonyms (B), converses (C), or
gradable antonyms (G).

easy — difficult B/C/G
good — bad B/C/G
pass — fail B/C/G
husband — wife B/C/G
parent — offspring B/C/G
legal — illegal B/C/G

Exercise 4: Answers

1.G 2.G 3.B 4.C 5.C 6.B

Homonymy and Polysemy

In the case of homonymy, we have two words whose senses are far apart from
each other and not obviously related to each other in any way. While in the case
of polysemy, we have one word which has several very closely related senses
(the different senses are related to each other in some way).

Let us apply this to the following exercise.

Homonymy sileoll >asig

> x3homonymy oo uls pasdl lpass ;e b polino (il ouindS Lo
sas5 @ls (58 @l o> (08 IVl o S SU pasdl lass go dsleioll auolgll
wolsodl b ) dlall (s wsuleadl oo uasdl Ly sl 8aslg @olS Lo wsolsall

(,3b ol asyyhy pasdl lpasd aalisoll
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Exercise 5: Homonymy and Polysemy

Decide whether the following words are examples of homonymy (H) or

polysemy (P).
e bark (of a dog vs. of a tree) H/P
e fork (in a road vs. instrument for eating) H/P
¢ tail (of a coat vs. of an animal) H/P
e steer (to guide vs. young bull) H/P
e lip (of a jug vs. of a person) H/P

(i) e LIS)) gLl - 1H /P

(plaball ol 8151 Julso (goydall x8) 8 kall B yio - 2H / P
(Vlga> Jolio wahamo ) Juidl - 3H /P

(el sleo Joléo au>gil) au>gill -4H / P

(sastr Jolio (1] wpo) olaidl - 5H / P

Exercise 5: Answers

(1)H, not obviously related to each other in any way (2) P, the two senses are
related by the concept of branching out into different parts or pahs. (2) P, the
two senses have the concept of being located at the end of something. (4) H,
not obviously related to each other in any way (5) P, the two senses have the
concept of being at the edge of an hollow opening.
(DH (2) .JI9>‘\JI oo J> b pasdl lasd @8Me V aolgll go P osileoll by
(3) .olal=l ol aalizeo sl3=1 JI €455 popioy o uilP LpigS popian lod (sileall
(4) Lo sesaid alps 8 gaH Jlg=Vl o s SU auolgdl o Lasdl lpasd @dMe V |
(5)P.cl3g> a=id @S> e pgpiao logs) susoll .

Semantic Fields & Collocation

A semantic field contains a group of words which are related in their meaning.
Collocation is a relationship between words that specifically or habitually go
together.

Exercise 1: Semantic Fields

Identify the word that does not belong to the group and suggest a
suitable semantic field for the group.

1- banana, apple, orange, apricot, flower

2- uncle, aunt, friend, grandmother, cousin
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3- car, ship, plane, lake, boat
4- honesty, reliability, generosity, truthfulness
5- running, swimming, thinking, skating

acgoczolly (sileall Jga>

dleo 29 by (sl lalsl o dcgozeo (sl Sgiz (sileall Ja>

WOlo;Mio izl a>g (sde gl dsle il WlodSUl u @8Me >9>9 98 ozl
wleoll Jgs> 11 ¢ 0ull

acgozeol) cowliodl uleoll Jo> 21,8lg acgozo (sl swoiis V il aodSJl 2o
3,839 Jiwowinodlg Jlai,lg zlaidlg jo0dl - 1

pc ol da> (B0 Boc (pc -2

OB 8zl 8,5l ol uaw gl 8)Lw - 3

CUl.nX”g.o)Sﬂg «@sloscVly Saall - 4

adslly Saily casloudly )=l - 5

Semantic Field: “fruit”, the word “flower” is not part of this semantic field
Semantic Field: “relatives”, the word “friend” is not part of this semantic
field. Semantic Field: “means of transportation”, the word “lake” is not part
of this semantic field. Semantic Field: virtues, all words belong to the field.
Semantic Field: “sports”, the word “thinking” is not part of this semantic

field.

Exercise 2: Collocation

Decide whether the following pairs of words make a collocation.

e have fun Yes / No
e get place Yes / No
e take place Yes / No
e problem solving Yes / No
e problem care Yes / No
e health care Yes / No

&aozdl pass &l wlodSJl oo zlosl colS 15] b )9
V/ po asioll - 1

V/ po UlSo (sde Jgazdl - 2

V/ psiSyxi- 3

V/ po oMSoiwll > - 4

V / po alSLawll &l - 5

V/ po éuzall &le,Jl - 6
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Yes No Yes Yes No Yes

Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

PW&I’; %BM

Lecture 9

Classify the following pairs by choosing the best classification:
1. easy —difficult
a. binary antonyms
b. converses
c. gradable antonyms
2. good — bad

a. binary antonyms

b. converses

c. gradable antonyms

3. pass - fail

a. binary antonyms

b. converses
c. gradable antonyms
4. husband - wife
a. binary antonyms
b. converses
c. gradable antonyms
5. parent — offspring
a. binary antonyms

b. converses
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c. gradable antonyms
6. legal —illegal

a. binary antonyms

b. converses
c. gradable antonyms
7. present - absent

a. binary antonyms

b. converses

c. gradable antonyms
8. deep — shallow

a. binary antonyms
b. converses

c. gradable antonyms

9. above - below

a. binary antonyms
b. converses

c. gradable antonyms
10. clean —dirty

a. binary antonyms
b. converses

c. gradable antonyms

11. husband — wife

a. binary antonyms
b. converses

c. gradable antonyms
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12. early — late
a. binary antonyms
b. converses

c. gradable antonyms

13. The word (BARK) when used for a dog vs. for a tree is
hyponym because:

a. They are not obviously related to each other in any way.

b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false

14. The word (FORK) when used for a road vs. for an
instrument for eating is polysemy because:

a. They are not obviously related to each other in any way.
b. They are obviously related to each other in any way.

c. They give the sense of similar meaning.

d. All false

15. The word (TAIL) when used for a coat vs. for an animal is
polysemy because:

a. They are not obviously related to each other in any way.
b. They are obviously related to each other in any way.

c. They give the sense of similar meaning.

d. All false

16. The word (STEER) when used to guide vs. for a young bull
IS hyponym because:
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a. They are not obviously related to each other in any way.

b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false
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SEMANTICS AND PRAGMATICS

Lecture 10

Sentences & Utterances

- An utterance is any stretch of talk, by one person, before and after which there
is silence on the part of that person.
- An utterance is the use of a piece of language (one or more

word/phrase/sentence) by a particular speaker on a particular occasion.

- To make the notion of utterance clearer to you, read this sentence once out loud:

e.g. “There is a car coming.”

- Now read it out loud a second time.
The same sentence in this example was involved in the two readings. So, we

have one sentence, but you made two different utterances of this one sentence,

i.e. two unique physical events took place.

blalVlg Josl

wl> o oo amug Jub (axly pazed JUS o pMSUl oo slasel Sl ga blalVl o -
ozl 1is

J5 oo (alozdl / 8,lc / oS ,iST ol a>ls) aelll Go s3> plaziwl s &bl U] -
ol anwbo (8 asls plSioll

ey 81>g 8,0 ozl 038 1,8 (el @il >g.08 ,iST PMSUI pgpin puai S -
Jle

Maosd 6, low Jla" Jledl Juw e

i 8,0 UVlg Jle gy 8¢l,9 -
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- A sentence is neither a physical event nor a physical object. It is an abstract

string of words put together by the grammatical rules of a language.

- A sentence, then, exists abstractly in the mind of language speakers before they

say it or write it.

- A sentence can be thought of as the ideal string of words behind various

realizations in utterances and inscriptions.

- To make the difference between sentences and utterances clearer consider the
following situation. Ahmed and Ali both greet each other one morning with: ‘How

are you today?’

- In this example, Ahmed made one utterance, and Ali made another utterance. As

a result, we have two utterances.

On the other hand, there is only one sentence involved in the situation above.
-A 85 ol WlodSJl o duwdw e 8,le Ll .Solo (S Vg (Solo Uas> cuwd ao=dl
aell @9l aclgsll Lpiclua) ciold

-A. LoliS of Lpdgd Ol Jud @l uinziodl (o 3,20ll Ja=ll (08 39590 (03] (@l

-A g LLJVI (8 JlsVl walizs <9 SlodSIl o adlio @lwdwsS [licl oSou alozl
obtsll
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Constatives

- A constative utterance is an utterance with which the speaker describes
something which may be true or false.

E.g. “I'm trying to get this box open with a screwdriver.”

- This utterance expresses and describes something which we may judge as being
true or false.
However, utterances can do more than simply describe something.

Constatives

-A skl constative gl dxumo wgSi 18 (sl L pdSiodl s sl (sb 9o
asbls
" claodl 8o 2oiae Bgdiws 1id Je= Jglsl LM Jlodl Juw sle

Los ol Ulgo @il Sz 48 2wy bud wang e sy b i -
Lo sesai g Syx0 oo S1 Jeas ol il oSey Us gog

Performatives

- A performative utterance is an utterance that does not report or “constate”
anything and is not “true or false”. In this type of utterances, the uttering of the
sentence is part of an action.

E.g. I name this ship Discovery.
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- By uttering this sentences, the speaker actually names the ship. He is not making

any kind of statement that can be regarded as true or false.

- A performative verb is one which, when used in a positive simple present
tense sentence with a 1st person singular subject, can make the utterance of

that sentence performative.

sVl
A" ol 5 V Sl hidl 9o (silsVI ghill constate "asbls ¢l dsums" Ly s Sl "
Josdl o e3> 98 dlozdl 0in (8hig (shill o el lin (59
Jodl Joow (sdel. GlausV aa ] 0dd  wuoow Ul
Qurai o €9 S| paii p) 989 Aiuiaull (o Usd plSiall Jodl 018 3k alawly
bls o o e Ol Sy ol
-A 2ol aiioll bhwdl £ )lacll o> s pasiiws bodic «Sil g a>ly ilsVI Jeall
1 Jelallstosdlsl ozl hidl (o Jems Ol Soy o> a0l Lot
- There are a number of performative verbs including: promise, apologize, thank,
approve, request, warn, congratulate.. etc.
- E.g. Ithank you all for attending.
I approve this message.
- Although most performative utterances have 1st person singular subjects, there

are exceptions. The following are some examples of these exceptions.

E.g. 1. “You are forbidden to leave this room.”
E.g. 2. “All passengers on flight number forty-seven are requested to proceed to
gate ten.”

E.g. 3. "We thank you for the compliment you have paid us.”

- Performatives can be either explicit or implicit.
- An explicit performative contains a performative verb naming the act.

E.g. I order you to go.
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- An implicit performative does not contain a performative verb naming the act.
E.g. Go.

- In the two examples above, we can achieve the same purpose (giving an order)

with “Go “as we did with “I order you to go.”
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- Consider the following two examples:
1- “There is a car coming.”
2- "I shall be there.”

These examples can either be constative utterances, or implicit performatives.
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Example 1 is an implicit performative if it is used as a warning, and so is
Example 2 if it is used as a promise. Both examples can also constatives if
they are simply used to describe something.

Constatives Vs. Performatives

- The difference between performatives and constatives is that a performative
utterance performs some act and simultaneously describes that act. On the

other hand, a constative utterance does NOT perform the act.

rodbo adul el (J Hhaisds -
Maos 8)bw Jls" - 1
MAJls wgSlw" - 2
PMSJ! Lo| @lioVl 0id weSs Ul ;,Sauconstative.duos silsVl ol
09509 iz @lioy Aolazsiwl pi 15] (sioall (silsVl ga 1 Jlio
alioVl o JSJ Sioug .acg oS aslaziwl pi 13] 2 Jlioconstative plaziwl o 15] Layl
Lo sosuts waog) ppil 5,20
Constatives VS. Performatives
o B,all -performativesy constatives lia waag Jeal Las Sxéy oVl MUl ol 9o

PMSlg 5,31 @b oo a>lg cidy 9 Josllconstative. Jeall duais pu V

- Compare the following two examples:
"I promise to repay you tomorrow.”

“John promised to repay me tomorrow.”

- I promise to repay you tomorrow’ is a performative because in saying it, the

speaker actually does what the utterance describes, i.e. he promises to repay the

hearer the next day. That is, the utterance both describes and is a promise.

- By contrast, the utterance ‘John promised to repay me tomorrow’, although it

describes a promise, is not itself a promise. So this utterance does not
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simultaneously do what it describes, and is therefore a constative, not a

performative.
oo oy bo u,l8:
"lae uaawsd pSd apsil."
"lae osJ s Ug> acy.”

- MUl ey Lo Lled pdSioll 0B cels algd (sapsV (sslsVI g &l sl pSU apsil
a2 9 waay slow a> sl shill (98 13dg L sJWIl pedl (58 oludl Jawsiasy al i,

- aegll G il o ol (sde M e W sl wac vg>' sl 0 « Llaadl sds

s aras b Jzas Y asly ey b (bl 11 Ui lacy iy cad oS5 o)
constative sVl Guds «.

Speech Acts
Words and sentences when uttered are used to do things, to carry out socially
significant acts, in addition to merely describing aspects of the world. The notion

of a performative clearly illustrates this point.

Thus, we can argue that part of the meaning of an utterance is what that

utterance does. In our next lecture, we will talk in more details about the

different characteristics of speech acts.
Lcloiz] @old Jloch plall slowl Jeoi ol haali passows baie Jozly wlodSII -
. @il 018 zuogs VI pgpan Ul el o wilsg> oy 3,x0 sl @8loYL

pslall 8,0lxo (59 . il pgis o Ol sl (samo o ley> 0L Jgall LaSoy (3Sag -
LM ol 0 @slizo Laslas Jg> Juoladl o duie (09 Gaxis Bgaws
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

Lecture 10
1. An utterance is any stretch of................. , by one person, before
and after which there is silence on the part of that person.
a. Writing
b. Dialog
c. Talk
d. All false

2. An utterance is the use of a piece of language by a particular
speaker on a particular occasion. This piece of language could
be:

a. Aword
b. A sentence

c. Aphrase
d. All possible

3. It is an abstract string of words put together by the grammatical
rules of alanguage. This definition refers to:

a. Asentence
b. A phrase

c. An utterance
d. All true

4. A sentence exists abstractly in the mind of language speakers
.............. they say it or write it.
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a. At the time
b. Before

c. After

d. Shortly after

5. When there is a situation where only one sentence_involved,
thereis:

a. Only one utterance
b. No utterance at all

c. Could be more than one utterance

d. All false

6. One of the types of utterances is the constative utterance with
which the speaker describes something which.........

a. Must be true
b. Must be false

c. May be true or false.

d. May be only false

7. One of the types of utterances is the performative utterance. In
this type of utterances, the uttering of the sentence is:

a. Part of an action.

b. Judged either false or true
c. Both
d. Neither

8. The utterance in “l name this ship Discovery” is:

a. Constative
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b. Performative

c. Alternative
d. All false

9. The utterance in “Im trying to get this box open with a
screwdriver.” is:

a. Constative
b. Performative
c. Alternative
d. All false

10. Generally, we can consider the utterance of a sentence as
(performative) when the verb is used:

a. In a positive simple present tense sentence.
b. With a 1st person singular subject

c. Both

d. Neither

11. There are a number of performative verbs including:
a. Promise
b. Apologize
c. Thank
d. All true

12. Performatives can be either explicit or implicit. An explicit
performative ................. a performative verb naming the act.

E.g. | order you to go.

a. Contains
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b. Does not contain

c. Both possible

d. Neither
13. Performatives can be either explicit or implicit. An implicit
performative .............. contain a performative verb naming the
act. E.g. Go.
a. Contains

b. Does not contain

c. Both possible
d. Neither

14. If we look at the example: “There is a car coming.”, we can
say it is an implicit performative if it is used:

a. To describe something.

b. To make a warning

c. Both possible
d. Neither

15. If we look at the example: “There is a car coming.”, we can
say it is an constative if it is used:

a. To describe something.

b. To make a warning
c. Both possible
d. neither

16. If we look at the example: “l shall be there.”, we can say it
is an implicit performative if it is used:

a. To describe something.
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b. To make a warning

c. To make a promise

d. To threaten

17. The difference between performatives and constatives is
that a performative utterance performs some act and
simultaneously describes that act. On the other hand, a
constative utterance ............ perform the act.

a. Sometimes
b. All the time
c. Does not
d. All false
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SEMANTICS AND PRAGMATICS

Lecture 11

Speech Act Theory

Speech act theory is a theory of language based on a book called “*How to Do
Things with Words” by the Oxford philosopher John L. Austin. The theory states
that language is as much a mode of action as it is a way of conveying
information.

Speech acts include:
locutionary, illocutionary and perlocutionary acts.

In the locutionary act we are simply ‘saying something’ that has meaning. In
other words, a locutionary act produces an understandable utterance.
- Locutionary meaning includes sense and reference.

- There is a concentration on the locutionary aspect of the speech act in
constative utterances.

- In addition to simply saying something meaningful, we may also use utterances
for particular purposes, e.g. to answer a question, to announce a verdict, to give
a warning.. etc. as we do when making performative utterances. In this sense,
we are performing an illocutionary act.

- Thus, the illocutionary act is the performance of an act in saying something.
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Through the illocutionary act (or simply the illocution), an utterance made by a
speaker has significance within the conventional system of social interaction (this
system includes conventions of thanking, promising.. etc).

One way to think about the illocutionary act is that it reflects the intention of the
speaker in making the utterance in the first place.

Other examples of illocutions defined by social convention (in addition to
promising and thanking) include acts such as: accusing, greeting, admitting,
apologizing, challenging, complaining, offering, congratulating, praising, giving
permission, proposing marriage, and others.

E.g. Saying:
“I'm very grateful to you for all you have done” performs the illocutionary act of
thanking, which is the speaker’s intention in making this utterance.
J=d JM> 0 -illocutionary abluw ol) illocution pdSiell @y (sJsl sl pMSII 99 «(
wldlail pladl e Jouin) weloiz VIl Jelad) sadadl pladl 9 auonl aJ
(&l .. acgllg, S adl

J=b (59 ,uSaill ba>lg &sy,b -illocutionary pMS Je> (b plSioll &y puSey @il 9o
JoVI plaoll 58

wle 5,3Vl alioVl (g -illocutions (sJ] asloYl) duclai=Vl adlidl osa> (sl
(8 ,icly W anlpsl 1 Wl gzl (sde JlacVl 0is Jouiviy (Suidly coll
8 ,ueq zlgy)l 2L8ly (WY slacly « zaodl @ips « o, (SeSeidly «Sazadl,liseVl

: : Joall o)l Juw csle
38 "edsd o JS wsle pSU 1ax oiow Uiillocutionary @ g il Sl Jss
AU 1is 3Ll (08 pdSioll

The perlocutionary act (or just simply the perlocution) carried out by a
speaker making an utterance is the act of causing a certain effect on the hearer
and others through that utterance (in Latin “per” means: “through”).

For example, if someone tells you “There’s a bee in your left ear”, it may cause
you to panic, scream and scratch your ear.

Causing these emotions and actions is the perlocution of this utterance, or the
perlocutionary act someone performs by making that utterance.
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The perlocution of an utterance is the causing of an effect to happen, perhaps
even without the intention of the speaker, through the utterance.

Thus, the point of carefully distinguishing the perlocutionary aspect of the speech
act from others is that perlocutions can often be unintentional.
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Illocutionary act vs. perlocutionary act:

The illocutionary act of an utterance is:
intended by the speaker,

under his full control,
and if the illocutionary act is evident, it is evident when the utterance is made.

On the other hand, the perlocutionary act performed through an
utterance is:
not always intended by the speaker,

not under his full control,
and is usually not evident until after the utterance is made.

For example, the act of thanking someone is illocutionary because it is
something that a speaker can decide for himself to do, and be sure of doing it
when he decides to do it. The hearer in a speech situation cannot decide
whether to be thanked or not. On the other hand, the act of persuading
someone, is perlocutionary, because the speaker cannot be sure of persuading
the hearer, no matter how hard he tries. The hearer can decide whether to be
persuaded or not.
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- A locutionary act has meaning; it produces an understandable utterance. An
illocutionary act has force; it is performed with a certain tone, attitude, feeling,
motive, or intention. A perlocutionary act has conseqguence; it has an effect
upon the hearer.

- These three components are not always separable. An utterance can have all
these components at the same time as in the following example.

E.g. “There is a car coming.”

By describing an imminently dangerous situation (locutionary component) in a
tone that is meant to have the force of a warning (illocutionary component),
the speaker may actually frighten the hearer into moving out of the way
(perlocutionary component).
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed

v (4
Lecture 11
1. Speech act theory is a theory of ........... based on a book called
“How to Do Things with Words” by the Oxford philosopher John
L. Austin.
a. Semantics
b. Language

c. Translation

d. Interpretation

2. Speech act theory states that language is:
a. A mode of action
b. A way of conveying information
c. Both of the same level
d. B more than A

3. Speech acts include:
a. Locutionary
b. lllocutionary
c. Perlocutionary
d. All of the above mentioned.

4. Alocutionary act produces a/n ....ccvevvevnnnne. utterance.
a. Reasonable
b. Specific
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c. Original
d. Understandable

5. Locutionary meaning includes:
a. Sense
b. Reference
c. Both
d. Neither

6. There is a concentration on the locutionary aspect of the speech
actin .......... utterances.

a. Performative
b. Constative
c. Both

d. Neither

7. One way to think about the illocutionary act is that it...............
in making the utterance in the first place.

a. Reflects the intention of the speaker.

b. Does not reflect the intention of the speaker.
c. Both possible
d. Neither

8. Saying: “I’'m very grateful to you for all you have done” performs
the illocutionary act of:

a. Personality

b. Social complement

c. Thanking
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d. All false

9. The

perlocutionary act is carried out by a speaker making an

utterance to :

a.
b.

Produce an understandable utterance.

Cause a certain effect on the hearer and others through that
utterance

c. Convey the intention of the speaker.

10.

11.

o o T

. All false

The part “per” in “perlocutionary” means:
Through

Before

Each

All false

The perlocution of an utterance is the causing of an effect

to happen......

o o T 9

12.

o o T 9

With the intention of the speaker.
Without the intention of the speaker.

Both possible

Both wrong

When the act is intended by the speaker, it is:
A perlocutionary act
An illocutionary act

Both possible
All false
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13. Is not under the speaker’s full control, it is:

a. A perlocutionary act

b. An illocutionary act

c. Both possible

d. All false
14. When the act is usually not evident until after the utterance
Is made, itis:

a. A perlocutionary act

b. An illocutionary act
c. Both possible
d. All false

15. The act of persuading someone, is perlocutionary, because

a. The speaker cannot be sure of persuading the hearer.
b. The hearer can decide whether to be persuaded or not.
c. The speaker is sure of persuading the hearer.

d. Aand B

16. A locutionary act has:
a. Force
b. Meaning
c. Consequence
d. All true
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17.

18.

19.

20.

21.

An illocutionary act act has:

a. Force
b. Meaning
c. Consequence
d. All true
A perlocutionary act has:
a. Force
b. Meaning
c. Consequence
d. All true
An utterance in a sentence can:
a. Only be Locutionary
b. Only be lllocutionary
c. Only be Perlocutionary
d. Have the three types in the same sentence.
In the example :“There is a car coming.”, we can find:
a. Only Locutionary
b. Only lllocutionary
c. Only Perlocutionary
d. The three types together

Your teacher says, "For class tomorrow, please read pages
twenty-one through forty-seven."”

a. Locutionary
b. Illocutionary
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22.

c. Perlocutionary

d. All of the above mentioned.

You and a friend are talking about a television show that
you both watched the night before. You say, "what did you think
about Luke's reaction to Laura's news?"

a. Locutionary

b. lllocutionary

c. Perlocutionary
d. All of the above mentioned.




. Nonee_svéran

SEMANTICS AND PRAGMATICS

Lecture 13

Co-operative Principle

In a normal conversation, a speaker tries to:

1- Give relatively specific answers to questions.

2- Give new information that the hearer doesn't already know.

3- Give information that is relevant to the topic of conversation.

4- Give information in a way that is easy to understand.

5- Avoid ambiguity, or potentially misleading statements.

- The previous points reflect what we call in pragmatics the Co-operative

Principle, the social rule which speakers try to follow in conversation.

- The Co-operative Principle can be stated simply as ‘be as helpful to your

hearer as you can’.

- The fact that speakers normally try to follow this principle is used by hearers in

making inferences from the utterances they hear.

- Being co-operative in conversation obviously involves more than simply telling

the truth, although truthfulness is part of co-operativeness.
E.g.
The second speaker in the following conversation is telling the truth, but is not

being co-operative:

Mother: "Who put the cat in the bathtub?’
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Maxims of Grice

The philosopher Paul Grice developed four components (called maxims) of
conversational cooperativeness. These Maxims of Grice are: quantity, quality,

relation and manner.

We will discuss them briefly here:
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1- Truthfulness — do not say what you believe to be false.
2- Relevance — keep to the topic of the conversation.
3- Informativeness — tell the hearer just what he needs to

know, no more and no less.

4- Clarity — speak in a way that the hearer will understand.

Implicature

- There might be situations in which one or more of the maxims might seem to be
violated, but in fact the hearer’s assumption that this is not the case leads him to
a particular inference from the speaker’s utterance.

- We will look at an example of a situation like this to make this idea clearer.

- If a speaker says “Mary speaks French” this would not normally lead the hearer
to think that “Mary is John’s daughter.”

- However, if you ask me for example “Do any of John’s daughters speak a foreign
language?”, and I reply “Mary speaks French”, now it would be reasonable for
you to conclude that Mary is John’s daughter.
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- You reached this conclusion in the previous example because you assume that I

would make a relevant reply to your question. In the above situation, if Mary

were not in fact John’s daughter, then my reply would not be relevant.
- Thus, it is sensible for you to reason as follows:
- If Mary were not John’s daughter, his reply would not be relevant: I assume that

his reply IS relevant and therefore Mary IS John’s daughter.

- The example we have just discussed is a case of implicature.
- The hearer reaches the conclusion that Mary is John’s daughter only if it can be

assumed that the speaker is being helpful.

- Thus, the inference that Mary is John’s daughter is an implicature of the

utterance ‘Mary speaks French’ in our example.

- Implicature is a concept of utterance meaning (as opposed to sentence
meaning).

- Implicature is related to the method through which speakers understand the
indirect illocutions of utterances.

- In a case of implicature the hearer assumes that the speaker is not violating
one of the conversational maxims we mentioned (relevance, informativeness,
clarity.. etc.)
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Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed
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Lecture 13

1. One of the following DOES NOT apply to a normal conversation:
a. A speaker tries to give relatively specific answers to questions.

b. A speaker tries to avoid giving new information that the hearer
doesn’t already know.

c. A speaker tries to give information that is relevant to the topic of
conversation.

d. A speaker tries to give information in a way that is easy to
understand.

2. “Be as helpful to your hearer as you can”. This statement
represents:

a. The Co-operative Principle

b. The Operative Principle.
c. The Co-understanding Principle.

d. The understanding Principle.

3. This principleis applied by:
a. The speakers
b. The hearers
c. Both
d. Neither

4. Being co-operative in conversation obviously involves:

a. Telling the truth.
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b. Being co-operative.
c. Both together.
d. Neither

5. Paul Grice developed four components of conversational
cooperativeness called:

a. The four Pauls.

b. The four Maxims

c. The four components
d. All false

6. Truthfulness — do not say what you believe to be false. This is
the Maxim of:

a. Quantity
b. Manner

c. Quality

d. Relation

7. Relevance — keep to the topic of the conversation. This is the
Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation

8. Informativeness — tell the hearer just what he needs to know, no
more and no less. This is the Maxim of:

a. Quantity

b. Manner
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c. Quality
d. Relation

9. Clarity — speak in a way that the hearer will understand. This is
the Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation

10. When one or more of the maxims seem to be violated but
the hearer assumes that the speaker make a relevant reply to his
guestion, this is called:

a. Implicature
b. Implication

c. Utterance

d. All false
11. Implicature is related to the method through which
speakers understand the......... of utterances.

a. Direct illocutions

b. Indirect illocutions

c. Direct locutions

d. Indirect locutions

12. In a case of implicature the hearer assumes that the
speaker iS....ccvevernnn one of the conversational maxims.

a. Not violating

b. Violating




. Nonee_svéran

c. lgnoring
d. Not ignoring

13. If your spouse asks, "...have you seen my car keys?" and
your answer is:” Yes, it is on the table.”. Which maxim does

apply?
a. Quantity
b. Manner
c. Quality

d. Relation

14. If your spouse asks "How was your day?" and you say "I
hate tomatoes". Here the Maxim of ....... Is violated.

a. Quantity
b. Manner
c. Quality
d. Relation

15.1f your friend asks, "How does my new shirt look?" and you
respond "It's interesting,"” you have broken Maxim of...............

a. Quantity
b. Manner
c. Quality
d. Relation
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SEMANTICS AND PRAGMATICS

Lecture 14
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1. A: (standing by an obviously immobilized car) ‘My car has broken down’
B: ‘There is a garage round the corner’

Implicature: The garage is open and has a mechanic who might repair the car.
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2. A: ‘What subjects is Jack taking?’
B: ‘He’s not taking Linguistics’

Implicature: B does not know exactly which subjects Jack is taking.
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3. A: ‘Who was that man you were talking to?’
B: ‘That was my mother’s husband’

Implicature: Speaker B’s mother’s husband is not B’s father.
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4. A: ‘Is Betsy in?’
B: ‘Her light is on’
Implicature: Betsy’s light being on is usually a sign of whether she is in or not.
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Violating the maxim of relation (irrelevant)
violating the maxim of quantity (uninformative)
violating the maxim of manner (unclear)

violating the maxim of quality (untruthful )

(1) Policeman at the front door: ‘Is your father at home?’
Small boy (who knows that his father is at home):

‘Either my mother’s gone out shopping or she hasn’t/
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(2) Traffic policeman talking to a man parked in a no-parking zone: ‘Is this your
car, sir?’

Man (who owns the car): ‘No, this car is not mine!
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(3) Customer in a stationery shop: ‘Are pens in the first floor or the second floor of
the store?’

Shop girl (who knows pens are on the first floor):

‘You can find them on the floor that has notebooks.’
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(4) Mother: ‘Now tell me the truth. Who put the cat in the bathtub?’

Son (who knows who did it): ‘Someone put it there.
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1. One of the following DOES NOT apply to a normal conversation:
a. A speaker tries to give relatively specific answers to questions.

b. A speaker tries to avoid giving new information that the hearer
doesn’t already know.

c. A speaker tries to give information that is relevant to the topic of
conversation.

d. A speaker tries to give information in a way that is easy to
understand.

2. “Be as helpful to your hearer as you can”. This statement
represents:

a. The Co-operative Principle

b. The Operative Principle.
c. The Co-understanding Principle.

d. The understanding Principle.

3. This principleis applied by:
a. The speakers
b. The hearers
c. Both
d. Neither

4. Being co-operative in conversation obviously involves:
a. Telling the truth.
b. Being co-operative.
c. Both together.
d. Neither
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5. Paul Grice developed four components of conversational
cooperativeness called:

a. The four Pauls.

b. The four Maxims

c. The four components
d. All false

6. Truthfulness — do not say what you believe to be false. This is
the Maxim of:

a. Quantity
b. Manner

c. Quality

d. Relation

7. Relevance — keep to the topic of the conversation. This is the
Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation

8. Informativeness —tell the hearer just what he needs to know, no
more and no less. This is the Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation
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9. Clarity — speak in a way that the hearer will understand. This is
the Maxim of:

a. Quantity
b. Manner
c. Quality
d. Relation

10. When one or more of the maxims seem to be violated but
the hearer assumes that the speaker make a relevant reply to his
question, this is called:

a. Implicature
b. Implication

c. Utterance

d. All false
11. Implicature is related to the method through which
speakers understand the......... of utterances.

a. Direct illocutions

b. Indirect illocutions

c. Direct locutions

d. Indirect locutions

12. In a case of implicature the hearer assumes that the
speakeris................. one of the conversational maxims.

a. Not violating

b. Violating
c. Ignoring
d. Not ignoring
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13. If your spouse asks, "...have you seen my car keys?" and
your answer is:” Yes, it is on the table.”. Which maxim does

apply?
a. Quantity
b. Manner
c. Quality

d. Relation

14. If your spouse asks "How was your day?" and you say "I
hate tomatoes". Here the Maxim of ....... Is violated.

a. Quantity
b. Manner
c. Quality
d. Relation

15. If your friend asks, "How does my new shirt look?" and
you respond "It's interesting," you have broken Maxim

a. Quantity
b. Manner
c. Quality
d. Relation




